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Heuristic function:

The heuristic function for this project is quite simple:

1. passed the game state by the java code (an array of integers between 0 and 7)

2. converts this number to it’s binary equivalent

3. XOR’s all of the binary numbers together

4. Determines what change will have to be made to what row to make the final XOR all zero’s

Explanation:

The heuristic function is attempting to reach the ‘kernel state’ of our version of the Game of NIM, to do this all of the rows of pearls when put into binary and XOR’d together must equal zero, otherwise the other player has the chance to enter the kernel state and gain the advantage.

As you can probably tell our game has been slightly updated to different implementations of the game of NIM.  Our GUI will randomly select different numbers of pearls to put into each of 4 rows, 1 being the least amount and 7 being the greatest.  The design of the GUI and a small part of it’s implementation are included, unfortunately there are concepts in the working that were left on the machines at school and cannot be accessed at this time.  I have sent as much materials as I could get from my lab partner and have included them with this text file.

